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���!!!(15©©©)� (G, ·)´+§A´+ G�f+"3 Gþ½Â'X∼µé?¿ g, h ∈ G,

g ∼ h ⇔ g−1 · h ∈ A. K ∼ ´ G þ��d'X§¿¦ G ¥�� g 3�d'X ∼ e

��da"
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���!!!(15©©©)

(1) ¦ 243 Ú 198 ���úÏfÚ��ú�ê¶

(2) ¦���gØ½�§ 243x+ 198y = 909 ��Ü�ê)"
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nnn!!!£££���10©©©¤¤¤ �ä�gÓ{�§|
x ≡ 3 (mod 8)

x ≡ 11 (mod 20)

x ≡ 1 (mod 15)

´Äk)ºXJk)§@o¦)T�§|"
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ooo!!!(10©©©) � n ��u 1 �?¿��ê§K

(1) n - (2n − 1);

(2) n|ϕ(2n − 1), Ù¥ ϕ(·) �î.¼ê"
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ÊÊÊ!!!(10©©©)

(1) )�gÓ{�§ 32022 · x ≡ 6 (mod 23).

(2) ©O¦Ñ� 23, 232 Ú 2× 232 �����"
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888!!!+++ØØØ¥¥¥���...���KKKFFF½½½nnn(15©©©)

(1) � (G, ·) ´k�+±9 A ´+ G �f+§Kf+ A ���Ø+ G ��"

(2) é g ∈ G,¦� gn = 1¤á�����ê n¡��� g ��§K�� g ���

Ø+ G ��¶

(3) |^+Ø¥�.�KF½ny²î.½n"
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ÔÔÔ!!!(15©©©)

(1) |^%�Ö(Wilson)½ny²¤ê�½n¶

(2) |^¤ê�½ny²%�Ö½n¶

(3) eÛ�ê p > 3, K

p2|
p−1∑
i=1

(p− 1)!

k
.
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lll!!!(10©©©)

(1) Ã"Ïf�¹N���¡���"y²µk���´�"

(2) e k ≥ 3, K {(−1)a5b|a = 0, 1 Ú 0 ≤ b < 2k−2} ´� 2k � X§¿�

(Z/2kZ)∗ ∼= Z/2Z× Z/2k−2Z.
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